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his/her Answer Sheet will not be evaluated.
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blank pages for Rough Work i 3
an examinee receives an incomplete or defective
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5. This Question Booklet contains 100 questions from
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(1) Hindi Q.Nos. 1-16
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Q. Nos. 61- 100

(4) Teaching Aptitude

6. Each question carries 1 mark and % mark will be
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be treated as final/authentic. - .

% Possession and use of electronic devices such as
Calculator, Cellular Phone, Digital Diary, Log Table,
Pager, etc., are restricted during the examination.

9. Any leaf from the Question Booklet should not be
detached. After the Examination, Answer Sheet must
be handed over to the Room Invigilator. 1. allowed

10. Du xamination the examinee will not be allowe:
g e xamination hall till the END of the

Examination.
11. Examinee can carry Question Booklet once the
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ENGLISH

It

Direction (Q. No. 16 and Q. No. 17) :
Choose the correct meaning of the idioms

given below.

16. To play fast and loose.
A) to deceive oneself
B) to be agile
C) to say one thing and do another
D) to be efficient

17. By fits and starts.
A) irregularly
B) mostly
C) after a short time

D) regularly

Direction (Q. No. 18 and Q. No. 19) :
Fill in the blanks with appropriate words
from the alternatives given below them.

18. He will come back two days’

time.
A) in
B) at
C) by
D) with

19. Either Cheton or Achou
the wrong.
A) are
B) were
C) is
D) have

ption which can

20. Choose the COl'l'eCt o
p of

substitute the underlined grou
words correctly, without changing the

meaning of the sentence.

Technology must use to feed the forces

of change.
AY) must be used to feed

B) must have been using to feed
C) must use having fed

D) must be using to feed

21. Fill in the blank with appropriate

tense form of the verb from the

alternatives given below it.

| the book when you come
next. (read)

A) read

B) shall have read

C) have read

D) was reading

Direction (Q. No. 22 and Q. No. 23) :
Choose the synonym for the given words
from the alternatives given below them

22. ALLEVIATE
A). Vivacious
B) Relieve
C) Estimate
D) Support
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23. CONFOUND
A) Perplex
B) Enormous
C) Talk to
D) Fearful

Direction (Q. No. 24 and Q. No. 25) :
Give one word substitute for the following
from the alternatives given below them.

24. That which cannot be altered or
recalled.

A) Imperceptive
B) Irreconcilable
C) Irrevocable

D) Invincible

25. A person who draws maps and
charts.

A) Cartographer
B) Draper
C) Painter
D) Artisan

Direction (Q. No. 26 and Q. No. 27) :
Choose the antonym of the given words
from the alternatives given below them.

26. BIASED
A) slanted B) one-sided
C) unjust D) objective

D Pz Noo

27. FIGURATIVE

A) notorious B) literal

C) malign D) insipid

28. Fill in the blank with appropriag
question tag from the alternative

given below it.

The teams have played the match,
?

A) have they

B) haven't they

C) do they

D) did they
Direction (Q. No. 29 and Q. No. 30):
Fill in the blanks with appropriate

phrasal verbs from the alternatives given
below them.

29. How much cloth does thijs factory

in a day ?
A) turn off
B) turn up
C) turn out
D) turn on
30. The boy the ball.

A) ran after
B) ran down
C) ran out

D) ran up
01 B.Ed.
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31.

33.

34.

35.

REASONING

(Choose the odd man out.

B) Ear
D) Lungs

A) laver

() Kidney

Choose the odd man out.
A) Football

B) Volleyball

C) Cricket

D) Chess

Choose the odd man out.
A) Pear

B) Apple

C) Orange

D) Guava

If the digits in the number 8911743
are arranged in the ascending order
from left to right, then what will be

the difference of the digits which are
ond from the right end and 5' from the

left end in new arrangement ?
A) 2 B) 3
01 D) 0

number 42168674
e descending order
then what will be
digits which are 3
& from the right
gement ?
B) 48

D) 28

If the digits in the
are arranged in th
from left to right,
the product of the
from left end and 4
end in the new arran

A) 24
C) 36

31.

32.

33.

34.

35.

s ——

Aifdhen arraan
gt firm 9T |
A) 0 B) #M
woyy fir=t T |
A) geard
B) aicfiaict
C) ferepe
D) wad
gaen firmr R
A) FreTaTet
B) d9
C) "au
D) 3WEG
af Gem 8911743 % 3t H &M & T
mWﬁa@HMW%,?ﬁTQ
sreren g o A R A A BR A 59
3 ¥ o9 fpaa1 AT g ?
A) 2 B) 3
01 D) 0
afe G 42168674 % 3wl H! @Td A gI¢

HaOd! h9 # Sgafeyq e v &, & 73
mﬁwwammmwa
DY FF H UAGS FT T ?

A) 24
C) 36

B) 48
D) 28
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36. If each of the conson:nt in the word
‘APPLICANT is chanzed to the pegt
letter in English alphabet and each
vowel 1s changed to next consonant
in the English alphabet, and thep
the letters in the word so formed
are arranged in the alphabeticg]
order from left to right. Which of the
following will be 3 letter from the
right end of the new arrangement of
letters thus formed ?

A) D
B wW
O Q
D) O

37. Find the missing number inthe following

series :

27, ___, 125, 216, 343

A) 30 B) 9
C) 100 D) 64

38. Complete the following analogy :

Mass : Kilogram : : Temperature :

A) Candela
B) Length
C) Gram
D) Kelvin

39. Complete the following analogy :
Brother : Sister : : Son -
A) Aunt
B) Uncle
C) Daughter
D) Grand daughter

Chze o

36. afe wisg ‘APPLICANT ® 3714 aTel Tl
=i F 3 qvtaren § TEE 3 3 IR
We 3 W T 1 g A audren §
36 AT FW 9 A § gaA (<A1
2, 3 39 yew =3 vee & AU B A
T auinren & arEn st fhar s
2, @ ward it 7 syarun d Fr=fafem §
& Br-a1 e gt @R | AT A 7

A) D
B) W
0 Q
D) O

37. ffeafaga sr@en § q@ g 714 #i -

27, & _, 125, 216,343
A) 30 B) 9
C) 100 D) 64

38. Ffafaa awevar qof =i
o9 : fohettum ;- ammr
A) FZen
B) &g

C) am

D) sfeaq

39. f=fefga wweyar gof &t -
‘ﬂ'é:a'é:l::gi: -
A) =T=h
B) =M=

C) gt
D) urdt
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40.

41.

42.

43.

44.

45.

46.

Find the odd man out.
B) Potato
D) Radish

A) Cabbage
() Carrot

Find the odd man out.

A) Lion B) Cheetah
C) Tiger D) Elephant
Find the odd man out.

A) Arithmetic
B) Trigonometry
C) Quantum Machines

D) Geometry

Simplify the following expression :
15x6+8x4+2
A) 50
C) 13

B) 15
D) 47

Simplify the following expression :
23x2+2-6+14
A) 21
C) 31

B) 42
D) 28

Simplify the following expression :
9-9+9x9+19-29

A) 9 B) 19

C) -29 D) -10

Find the wrong number in the following
series :

2, 4, 12, 96, 768, 7680

40.

41.

42.

43.

44.

45.

46.

wdo i 9T

A) wapinft B) 3T

C) MR D) Tef
gy i 9T |

A) W B) fai

C) ™ D) &t
Ty fir=r 9T |

A) o

B) fremifafa

C) waien aRd

D) sarfafa
PrefrRaa siftreafa # Gehiga Bl
15Xx6+8x4+2

A) 50 B) 15

C) 13 D) 47
frefifga sfreafd ® aeefipd H
23%x2+2-6+14

A) 21 B) 42

C) 31 D) 28
frafafe sfreafd = atefiea =t -
9-9+9x9+19-29

A9 B) 19

0 ¥ D) -10
frferfed sjaen § et W w5t

2, 4,12, 96, 768, 7680

A) 4
A 4 B) 12 B) 12
C) 768 D) 7680 C) 768 D) 7680
= o
J



47. Find the wrong number 10 the fOllowing 47. fafafga ’j@'ﬁl 4 T T BIGE ;
series :

1.2, 8, 64, 625, 7776 1,2, 8, 64, 625, 7776

A) 2 A) 2
B) 7776 B) 7776
C) 8 C) 8
D) 625 D) 625

48. Find the wrong number in the following 48. frafifiag s R — .
series : I al

3,12, 16, 80, 85, 504, 516 3,12, 16, 80, 85, 504, 516
A) 504 B) 12 A) 504 B) 12
C) 16 D) 85 C) 16 D) 85

49. Find the missing letters in the following 49. frrfefen swen § qw aw 3 =5

series :

ELFA, GLHA, ILJA, ___ MLNA. ELFA, GLHA, ILJA, ___ MILNA
A) OLPA B) KLMA A) OLPA B) KLMA
C) LLMA D) KLLA C) LLMA D) KLLA
50. mg the missing letters in the following 50. F=ffaa saen # T A& 719 i
series :
CMM, E00,GQQ, _ KUU. CMM, E00,GQQ, ___ Kuu.
A) GRR B) GSS A) GRR B) GSS
C) ISS D) ITT C) ISs D) ITT
51. Find the odd man out, 51. g iy ﬂﬁﬁ |
A) January A) Sah
B) March B) o
C) June C)
D) Decembey D) femen

[ Page No. 10 01 B.Ed.



52.

If in a certain code language, ‘x’ means
.+’ means '+, ‘+' means ', ‘-’ means
' then the value of

16 %32+ 14-4+121is

A) 42.5

B) —42.5

C) 43.5

_D) 435

53.

54.

If in a certain code language, ‘<’ means
e PR TR]

'+’ means ‘+’, '+’ means -, -’ means

‘%', then the value of

(15 x 3) x (45 + 35) +(30) is

A) -15

B) 30.5

C) 42.5

D) 15.5

If in a certain code language, X’ means
‘4’ means ‘+, ‘+’ means ‘.’ means

X, then the value of
35-16 x (18 -5+ 10) + 10

A) 17 B) 35
C) 19 D) 80

55. Roshan is taller thar; Hardik who 1s
shorter than Sushil. Niza is tall_er
than Harry but shorter than HardJl':.
Sushil is shorter than Roshan. Who1s
the tallest ?

_4&) Roshan
B) Sushil
C) Niza
D) Hardik
D

52.

53.

54.

55.

ﬂﬁ@ﬁﬁaﬂ@mﬁ‘x'waﬁ‘#t, L
SR E Ll I X’
i,ﬁ16x32+14—4+12ﬂm€m
A) 425

B) 425

C) 435

D) -43.5
ﬂﬁ@ﬁ%ﬁfemi‘x’mwf‘#a “
S v IR A a7 X
%,?ﬁ(15X3)x(45+35)+(30)a»1qﬂ
B

A) -15

B) 30.5

C) 42.5

D) 15.5

s o P e e A o0 T R,
w19 R P w R, I
2. 3516 x (18— 5+ 10) + 10 AH
am
A) 17
C) 19

B) 35
D) 80

A, ik a T 8, Ngie A s ® | fe,
GURISEICEE R e R T
VA HDTR | Ged AT B R ?

A) T

B) gt

) fan

D) ®fés
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96.

) |

59.

In a group of 5 boys. Vasant is tgljer
than Manohar but not a8 tall ag Rajy.
Javant is taller than Dutta but shorter
than Manohar. Who i the shortest in
group ?

A) Raju

() Dutta

B) Vasant
D) Jayant

Find the missing letters in the following
series :

SCD, TEF, UGH, __, WKL.

A) CMN B) UJI
C) V1J D) JT
. If each of the vowel in the word

‘TEMPLATE'’ is changed to the next
vowel and each consonant is changed
to the previous consonant in the
English alphabet, and then the letters
in the word so formed are arranged in
reverse alphabetical order from left to
right. Which of the following will be
the 6™ letter from left end of the new
arrangement of letters thus formed ?

A) 1 B) N

C) K D) P

Which of the following number will
come next in the following series ?
8287387648765587654

A) 3 B) 6

C) 8 D) 7

Which of the following number will
come next in the following series ?

789234678923455678923456
A1 B) 2
C 3 D) 4

56.

57.

58.

99.

60.

b TEH & S uyE § IEA, T Y oy
¢, S T foren o B 1, 2
1 R, Ao TR @ B R | W8 § ey
BRI 7
A) T
C) am

B) Igd
D) 944

frforftaa sf@en & qa e a Hi
SCD, TEF, UGH, __, WKL.

A) CMN B) UJI
C) VIJ D) IJT

afe I ‘TEMPLATE' # Yo% &R
IS FoinTen # IR I R I
9 i 394 Roe =9 & Tga foar I
2 3 T YR ¥ W F e At @
< quinTen % e s o sxafrE o e
ST 8, @ 1 i 98 sxawen § fafafes
4R FH-T1 HE S BR QA BT B 7

A) 1
C) K

B) N

D) P
frforien @ § srreht wen s9-a
gt ?

8287387648765587654
A) 3 B) 6
C) 8 D) 7

789234678923455678923456
A1 B) 2
C) 3 D) 4
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61.

62.

63.

64.

65.

TEACHING APTITUDE

What type of evaluation identifies
|earning deficiencies and difficulties
of the learners i
A) Placement B) Summative

() Continuous D) Diagnostic

Which from the following should be
used to increase correct responses and
appropriate behavior from students ?
A) Ignorance B) Strictness
C) Punishment D) Praise

Which one of the following is not taken
into consideration while preparing the
blue-print for a test ?

A) Topic

B) Instructional objectives

C) Form of questions

D) Teaching time

The curriculum of educational institutes
should be based on

A) Theory

B) Practice

C) Both (A) and (B)
D) None of the above

__ arethe approaches to the
study of leadership which emphasise
the personality of the leader.
A) Contingency theories

B) Group theories

C) Trait theories

D) Inspirational theories

61.

62.

63.

64.

65.

freron xfvgm _
mmmmmmﬁwﬁ
i e e 1 TE = E 7
A) @iz B) FMTeT
C) fre D)gﬂm
ﬁaﬁﬁﬁnﬁgﬁr&?ﬂaﬁaﬂwﬁﬁw
ﬁmamﬁqﬂmﬁamm
foan e =fRT ?
A) M B) HaRdl
C) & D) A% HAT
e 35 forq e e e P
3 & fre @ v 7@ fean T R 7
A) fawz
B) Fwer® 3¢
C) J¥l &% THR
D) e g9
e deEl F TSIHA W
i B 91T |
A) fagm@
B) anI™
C) (A) 3 (B) qdt
D) 39 § § B T
e S 3w S gRem
A I F AfdId WA A & | g
A) I g
B) #¢ fagm
C) fafirean fargra
D) 3w fagia
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66. You want to ensure l"'r“Cl'pation of

68.

69.

more students in clas~ Which of the
following methods of tcaching would
vou adopt ?

A) Demonstration

B) Discussion

C) Recitation

D) Role-play

1s the process in which you
identify the common aspects or basic
relationships in a variety of specific
situations.
A) Abstraction
B) Generalization
C) Problem solving

D) Reasoning

If you want to improve the ability
to observe in children, which of the
following would you recommend ?

A) Generating interest in subject

B) Developing a framework for
experiences

C) Sharpening the senses

D) Training mental faculties

1s the apex institution involved
in the planned and coordinated
development of the teacher education
system in the country.

A) UGC B) NCERT
C) NCTE D) XSEED

66.

67.

68.

69.

AT e F fus o S e gifeg
Bl A B | 3 faafafaa d | fag
foraror ggfa &1 srgqm0n 7

A) veuiq

B) @w&g

C) & 918

D) i9-@

T vfsrar 2 faad w9 fafus
fafire feufoat & qmrmr v a1 gfvad
qaYl i ggaH w1 2 |
A) afad=ar
B) amr=fiet
C) |w&1 %1 gergm
D) 3feq qq
e 39 w==i F Fritew w3 € wwa d
YR A1 91Ed 8, a1 319 f= § | fraehl
fawifta w01 2
A) 993 4 sfg de1 w1
B) qwei % fow v wqvan fysfg

HET
C) sfeat &1 a9 &
D) wHfds i &1 afdemm

o % foere fven woreht % fifia
3R gufa fawm # e sid ween 2

B) NCERT
D) XSEED
01 B.Ed.
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70.

72.

73.

If you w.m.n.bo develop cooperation and
team spirtin students, which activities
would you propose?

A) Art

B) Debate

() Project work

D) Quiz

You come across a teacher who believes
that students are naturally curious
and that the best way to encourage
Jearning 18 through a process of
‘self-discovery’. Such a students is
highly likely toencourage
to learn.

A) Competition

B) Extrinsic motivation

0) [mitation
D) Intrinsic motivation

ly construct their

“Children active
f the world” 1s a

understanding ©
statement attributed to

A) Kohlberg B) Skinner
C) Piaget D) Pavlov

A child breaks toY® and dismantles

them to explore
What would you do?
A) Never let child play with toys

B) Always keeP a close watch

71.

72.

73.

@“*"“Wﬁ?ﬁsﬂ%aﬂxﬁqﬁﬁ
mwmﬁ%mﬁmmtum
71 B 7
A)téaawamq@aaa
B) WA ¥ TR @
C)ﬂ%mmﬁaﬁmﬂaﬁw
p) 38 sy fr faeld ® A T
Sl
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74. “Individual learns from hjs gwp,
mistakes”. This statement is baged oy
which learning theory ?

A) Instrumental conditioning
B) Insight

C) Trial and Error

D) Classical conditioning

75. Which of the following is not the
tool for Formative Assessment ip

scholastic domain ?
A) Conversation Skill
B) Multiple Choice Questions

C) Projects
D) Oral Questions

76. Imagine you are working in an
educational institution where people
are of equal status. Which method
of communication is best suited and
normally employed in such a context ?

A) Horizontal communication
B) Vertical communication
C) Corporate communication

D) Cross communication

77. Identify the important element a
teacher has to take cognizance of while
addressing students in a classroom.

A) Avoidance of proximity
B) Voice modulation

C) Repetitive pause

D) Fixed posture

D) ffyaa amgs
D Pinge S 16

. aafy e et @ e R |7
" et o fagia T s & 7
A) IR FAT
B) 3imgfR
C) vhem 3k Ff fafe
D) W& IqEeA
75. frafofea & @ #F-w e a3 &
Fraforers geaiea 1w TE @ 7
A) Tl B
B) wg famcdta woa
C) qiEsman
D) Mfas yw=
76. weq1 Ffv f6 9 v 3 Dufrs TeE
4w @ § Jal o Rl g
T T % wod 1 gur it F-d fafy gel
I IR T w9 Pl 2 2
A) #fas g9r
B) SR §9R
C) anfes #=r
D) R 91
7. @mﬁﬁvﬁaﬁéﬁmmmm
T EH § @ IR T wrE g €

RS W |
A) Pt @ s=m
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80.

81.

i

78.

which of the following items of

information are¢ important about
students to motivate them for studies ?

A) Learning style

B) Personality

C) Socio-cultural background
D) All of the above

What are required for good teaching ?
a. Diagnosis

b. Remedy

c¢. Direction

d. Feedback

Select the correct answer from the
codes given below :

A) a,b,candd
C) b,candd

B) aandb
D) candd

Most often, the teacher — student
communication 18

A) Spurious
B) Critical
C) Utilitarian

D) Confrontational

Arrange the following teaching process
in order :
i. Connecting the present knowledge
with the previous knowledge

1. Evaluation

1. Re-teaching

iv. Formulating objectives
v. Presentation of materials

A) (i), (i), (iid), (iv), (V)
B) (i), (i), (i), (iv), V)
C) (v), (iv), (iii), (i), (1)
D) (iv). (i), (v), (1), (1))

78.ﬁmﬁﬁﬁm*mmﬁ#m

79.

80.

81.

D) (), (i), (v), (i), (iii)

Ao 3 3 - e e & 7
A) drgy # e

B) =
C)mmw

D) 3w ¥ oft

o Ry % forg e # 7

a. fem
b. IJ4ER

c. femm
d. wfafsean

ﬁ%ﬁqm’f{ﬁaﬁmﬂw‘ﬁ‘
A) a,b,c3 d B) a3 b
C) b, c 3 d D) c 3 d

wa i, Re-9H §91 3
A) et

B) iRk

C) Sgarf

D) ZHTE

frefefa e sfkan it wa & srafem
o
i, IA9H 79 @ 79 | Fre
ii. YEATRA
iii. & & wem
iv. W H o
v. gt & Tefa
A) @), (i), (i), (iv), (v)
B) (), (i), (iii), (iv), (v)
C) M), (v), (i), (), (i)
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g2. Dynamic apPro

ach to teaching

means
A) Teaching should be forceful anq
effective

B) Teachers should be energetic ang
dynamic

C) The topics of teaching should not
be static but dynamic

D) The students should be required

to learn through activities

83. Which of the following does not belong

D

to a projected aid ?

A) Overhead projection
B) Blackboard

C) Motion pictures

D) Slides

84. By which of the following methods,

the true evaluation of the students is
possible ?

A) Evaluation at the end of the
courge

B) Evaluation twice g year

)] Continuous evaluation

D) Formative evaluation

82.

83.

84.

ﬁm%ﬁnwﬁmz@mmmg
A) Rren wwm si st v v
B) ﬁrwmhnsﬂmﬁwﬁammm

C) R % fows R 78 ey et
B =fRe

D) mﬁﬁﬂﬁ%&ﬁ%mémﬁﬁ
ATEFHAT g =fRe

frefeafea & & S-m swfe g @
Heiftr 7 ? 2

A) FERE W
B) =t=are
C) Wi fie=d

D) &rssq

frafofes 3§ @ frm fafy & faenfiial &
T YT WV R 7

A) TEEFA ¥ 3 & e

B) qeaied a¥ § @ 9N

C) fte qea

D) fmfomeT e
01 B.Ed.



B The essence of an effective classroom 86. W% yureft s areEC! H1HL :

f.n,,i,-(mment is

A) A variety of teaching aids A) frgor garas amt # & fFE

p) Lively student-teacher B) om- s aaha
interaction
¢) Pin-drop silence C) fa-giu wretd
D) Strict discipline D) Wea ST
- g6. Motivation isa 86. M @ 2

A) Natural state A) ST ST
B) Physical state B) Wfi e
() Psychological state C) wrRe feafa
D) None of the above D) 3w & A H13 T

87. Audio visual aids help______students 87, e g TgH Ha i
in the class. Bl 6 7eg F € |
A) Slow learning A) it 1fa @
B) Intelligent B) FfenH
C) Playful C) w8
D) Curious D) frg

88. ‘Buniyadi Shiksha’ plan is based on gg. grEdfram = 0w

s ® )

A) Dr. Radhakrishnan’s Plan A) ¥, T ¥ Fom

B) Mahatma Gandhi’s Plan B) W Tt ¥ e

C) Maulana Abul Kalam Azad's Plan C) M e wEm e ¥ Aory
D) TZA 3 ¥ gror

D) Rabindranath Tagore’s Plan
D m 01 B.Ed.




89.

9l

92.

analysis category system

Interaction .
for increasing the teacher

in education
effectiveness Was developed by

A) Amidon and Simon

B) Flander

C) Rayon

D) Richard Over

NUEPA is concerned with
A) Educational evaluation
B) Educational planning
C) Educational supervision

D) Educational unity

Moral values can be effectively
inculcated among the students when

the teacher

A) Frequently talks about values
B) Himself practices them
C) Tells stories of great persons

D) None of these

Verbal guidance is least effective in

the learning of
A) Aptitudes
B) Skills

C) Attitudes
D) Relationghip

89.

90.

91.

92.

oD

foerd wwrasfiam agr & faqum
et forareeh fergetyor sioft yomreh l
e T R
A) uftrgia iR A

B) Rt

C) WA

D) fed 3=

TEAIT F1 Y R
A) M g
B) dfére Femn
C) e wrgmor
D) HMfér Tl

Bl & o9 o geai H o @ |
faapféa famar s wehen 2 91 e

A) FEE A hi a1q a1 @

B) @¥ 3! WA HLT 8

C) WeR ARl A Herai g
D) ¥ § &I3 T&
v ¥ e wrieel qed
%9yl g 2 |

A) sty

B) #hia

C) WA

D) fan
01 B.Ed.



' ﬂ Which of the following is Doordarshan’s

94.

95.

" 96,

Educational Television Channel ip
India ”

A) Gurukul

B) Gyan Bharati

() Gyan Darshan

| D) Vidya

For

R

, 'Experimentation’ ig
the standard procedure to know the
truth.

A) Public Administration
B) Geography
C) Archeology

D) Science

Cause and effect relationships are
studied by studies.

A) Clinical
B) Comparative
C) Developmental

D) Experimental

What is the aim of Yashpal Committee
Report (1993) ?

A) L.C.T. in teacher education

B) Learning through broadcasting
C) Learning without burden

D) None of the above

93.

94,

95.

96.

YA § fforfiaa § A FA-A ZEAT F
Mivw, Fofifr 2 S B 7

A) TEm

B) wm wrAi

C) ¥ gt

D) fagan

% o v @ WA H AR
ek

A) @& gITEA

B) Wi

C) Q=
D) fasm

FU IR I9E dEUl B I
FegAt gar fea srar @

A) wifrwa
B) qeHI®
C) fowma wath
D) TS

Tyt /it i fedd (1993) 1 3evm
R 7

A) f® i 1o

B) YOI % Wrerm § i
C) fa 19 ¥ g

D) 39 H A ¢
01 B.Ed.



97. The first practical intelligence test

was invented by

A) Alfred Binet

B) Charles Spearman
C) David Wechsler
D) Francis Galton

98. Insight learning was Proposed by

99.

100.

A) Edward C. Tolman
B) Kurt Lewin

C) Max Wertheimer
D) Wolfgang Kohler

‘I don't care’ attitude of a student
demonstrates his

A) Aggression
B) Defence

C) Denial

D) Retrogression

“Self-actualizers share similarities”.
Who said this ?

A) Abraham Maglow
B) Herzberg

C) Erik Eriksop

D) Sigmund Freyq

97.

98.

99,

100.

mmﬁqﬁmm
mﬁb‘m’mm|

A) 7T faye
B) wTcd wfieily
C) 3fz A=
D) wiftm Aeeq

N

™ o7 |
A) g #. ey
B) %¢ afem

C) A9y auizm
D) Siewin Higer

U BH H TR WaTE T ¥ @ 3w
AT |

A) FTsHHT
B)

C) ¥=n
D) wvEmm

78 e = 7
A) JFSEH TR
B) &steni

C) W ufwraa
D) Rrmig wrae
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